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following Warm Up

Warm Up
Solve 30 (241)

Quickly Check your HW. Then do the
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Today

Finding the Sum of Geome’rrlc Sequences
(and of course the n™ term form those
same sequences)
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A sequence is geomelric if’
each term can be bt alneJ. 'G:”
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What is the common ratio of

]%\6) O[O) GDJ L*O).- .-

If the terms are getting smaller, then the
common ratio must be less than 1

Note
You are expected to show work,

using good notation in this unit.

Just fiddling around with

a calculator won't work out well
for you.
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Is the following sequence geometric? @

05),1,2,4,8,16,....
OBNONES

If so, what is common ratio? ( = 3
How many applications of 2 do you need to get
from the first term to the 3rd term?
i) to the 4th term?
Un=05() to the 85th term?

to the nth term?

i Geometric o
Vour best friend

7
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Explicit formula for
Geometric Sequences
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The first term of a geometric sequence
is 4 and the last term is 26,244. If there
are 9 terms in the sequence, what is the
common ratio?

262 = 4 (O U= Ut )
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The first term of a geometric sequence is

4 and the last term is 26,244. If there are s
9 terms in the sequence, what is the (3)
common ratio?

Alternative wording for the same )

Cond v oL U= 4 wnd U = %244
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Note | 100" 15
If something grows at 15%, then the W9
common ratio would be (1+.15) or 1.15

n-l
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the sum of a geometric sequence
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To find . sonm of Hae First n
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Lucleily, Hhares o formolet
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Formula Packet

th
The n™ term of an
arithmetic sequence

The sum of »n terms of
an arithmetic sequence

geometric sequence

The sum of » terms of a

geometric sequence

u, =u, +(n-1)d

S, =L;(211] +(n-1)d) =’—;(ul +u,)

(" =1 wy(1-1")
r—1 1-r

r#l
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_ w, (r" =1) <. = wy(1—1")
tor-l 1—r
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Assignment #2

Worksheet
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Typical Geometric lost (or N*h)
Series rerm

multiply by ¥
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